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1. 10 g of Mg is burnt with 0:28 gof Ogina | 1. 1.0 mo Mg o3 0-28 e 0, X3
=}

closed vezssl. Whmilll ‘?reactant i_s left in mﬁwd TI00O), BTN odns §,03»
excess and how much ? - :
PR GVPOINITT B D) ?
(A) Mg,58¢g :
(A) Mg: 58 g
(B) Mg, 0:58¢ (B) Mg, 058g
(C) 09024g (C) 05,024¢
(D) 0Oq,24g D) 0Oy 24g

2. The orbital nearest to the nucleus is

2. SRBDITA BT QT IFS

(A) 4f
(A) 4f

B

B (B) b&d

(C) 4s C) 4s

(D) 7p (D) 7p

3. Which of the following is the correct order

of radius ? | 3. B SINSINEY, IR AOIRT 3T

g3AB?

(A) H >H>H'

F— +
B) Na*>F >0> pitd i -
(B) Na‘*>F >0%*

(C) F >0%>Nat
(C) F >0%>Nat

3+ + 3-
(D) APP*>Mg** >N D) AP > Mg2* > N*-

Space for Rough Work / 2.0 Goﬁi %#
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4. The intramolecular hydrogen bond is (4. 8 §¢¥8o@ OINJYBOY,  BEETOT
pregent in FERRED 20 [T ?
(A) Phenol
(A) Seo*
(B) o-Nitrophenol
(B) o-Fenegemoer
(C) p-Nitrophenol
(C) p-JEncLeTOT
(D) p-Cresol PRED
(D) p-3TC*
5. The state of hybrid orbitals of carbon in - 9 .
5. 333_,2
CO,y, CH4 and CO?" respectively is Ol G "o 003 S e
Ro¥0ed BZENY 28
(A) sp® sp?ands
KeE k (A) sp3, sp? B sp
(B) sp?, sp and sp?
(B) sp3, sp DB sp?
(C) sp, sp® and sp?
(C) sp, sp® R sp? -
(D) sp?, sp and sp
' (D) sp? sp® &) sp
6. For an ideal gas, compressibility factor is
6. GTF BRVT BNICNOD 903
(A) 0
(A) O
(B) 1
B) 1
C) -1
& © -1
) A<d (D) +2
Space for Rough Work / 2.0t 0% ¢
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The relationship between K, and K, is
K, = K (RT)*". What would be the value
of An for the reaction

NH,CI (s) = NH;3 (g) + HC1 (g) ?

A 1
(B) 05
(C) 15
(D) 2

Acidity of BF3 can be explained on which

of the following concepts ?
(A)
(B)
©)
(D)

Arrhenius concept
Bronsted-Lowry concept
Lewis concept

Bronsted-Lowry as well as Lewis
concept

For the redox reaction
x MnOy +y HyCo04 + zH™ -
m Mn2* + n COy + p HyO

The values of x, y, m and n are

8.

K, B0RK, nonsha Fo2og K, = KRT)A®
NH,CI (s) = NHj (g) + HCI (g) 38 3,03 An
2365 R0 ? |

(A) 1
(B) 05
(C) 15
(D) 2

BF5 o® Eﬁ&)if&i:aéojadgc B3 #9508 OO

ATOBROT DBORWBITD ?
(A) SOLROAT ATHOZ
(B) w0"Am -0 A0S
(C) S A0

(D) WRI*RE-000 ATROZ Tone SIS

AT
83 FINT LUSTWF WIRFT 3,0300309,

xMnOj +yHyCy04 +zH" >
m Mn?* + n COy + p HyO

X, y, m @03 n WSo3n0

(A) 10,2,5,2 (A) 10,2,5,2
(B) 2,5,2,10 (B) 2,5,2 10
(©) 6,4,2,5 (C) 6,4,2,5
(D) 3,5,2,10 (D) 8,5,2,10
Space for Rough Work / 2080 #vﬁi; A
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10. Hy0,is

(A)

(B)

(C)

(D)

An oxidising agent

-

A reducing agent
Both oxidising and reducing agent

Neither oxidising nor reducing

10. H20'2 20T

(A)

(B)

(C)

(D)

mdﬁfmﬁna (eﬁzquéhon‘ mﬂou)
CODTRE £ITO (dedr%mom aﬁo&&)
QUBRF £9500 ) TR o520

CUBRFETO W) TR 950

t
i QOB &)
11. Dead burnt plaster is 2
G 11. B WOk TRT® IRFTH ?
(A) CaSOy
(A) CaSOy
1
(B) CaSO0y4 §H20 B) CaSO,- _;_ H,0
(C) 03804 8 H20 (C) C 3504 . H20
(D) CaSO4-2H,0 (D) CaSO,-2H,0
12. Identify the following compound which | 12. #9808  RoeoIRRYY,  w@,N08e0H
exhibits geometrical isomerism : Raoon3 iraf&z‘bddsigt ROTOER
(A) But-2-ene (A)  WRE-2-887°
(B) But-l-ene CURL
@ Titens (C) wRE’
(D) DAReWR R
(D) Isobutane
Space for Rough Work / 2.8 Gvﬁ% %@
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13. During the fusion of organic compound

13. WIS RockogaRyERy  AeeRoHRF

with sodium metal, nitrogen present in Snemidnoddnt TATN, DI @V eIN
the organic compound is converted into Ro0INFRRNTYDB MOBITRY) 88 PN
030983 Foo30T WRTON WITF WNIBLS
(A) NaNO,
(A) NaNO,
(B) NaNH,
(B) NaNH,
(C) NaCN
(C) NaCN
(D) NaNC (D) NaNC
14. The reagent X’ used for the following | 14. 9N 3,031 T §03RTTE X’
reaction is ' ¥ R\ R
R, ¥ R-C=CR+H, —X» C=C
R-C=CR'+H, £,  '¢c=C B/ \H
H/ MH
(A) Ni
(A) Ni
(B) Pd/C (B) Pd/C
(C) LiAlH, (C) LiAlHy4
(D) Na/Liquid NH4 (D) Na/Liquid NHj
Space for Rough Work / .08 3':3:!1#*:&5'
Chemistry (6-A)

~

T

collegedunia:s

India’s largest Student Review Platform



15. Which of the following ions will cause [ 15. 88 89N CINS WEARINL DI
hardness in water ? REITIZE 500N
o .
(A) Ca?*
(A) Ca?*
(B) Na*
(B) Na*
(C) CI
(C) CI
(D) K*
(D) K*
16. Which of the following oxides shows 16. dnemnvod :‘}Cbﬁg‘_l @gmﬂ#@t 0353
electrical properties like metals ? &8 & Se030T ?
G (B0 (4) SiO,
Gl (B) MgO
(©) B0ais) (C) SOy (s)
(D) CrOq D) Cro,
17. 39NI O3NG  TRWEINED 83\'%03 a:'zigd
17. Which of the following aqueous solutions
should have the highest boiling point ? BRI 2070 BRD
(A) 1:0 M NaOH (A) 1-0 M NaOH
(B) 10 M NaySOy4 (B) 1-0 M Nay,SO4
(C) 1-0 M NH4NOg (C) 1-0 M NH/NOg4
(D) 10 MKNOg (D) 1-0 M KNOg
Space for Rough Work / 2080 Goﬁiﬁ g
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18. The charge required for the reduction of | 18. 1 ZRper MnO, Qo0& MnO, 0

1 mole of MnO, to MnOj is OTBRF N Lesardss DT
(A) 1F (A) 1F
(B) 3F B) 3F
(C) 6F (C) 5F
D) 7F (D) 7F

19. For the reaction,
250 + Oy == 2803, 19. 333$NI 3odnt
2504 + 09 = 2804
0, 3 FBOIRME TOR)

the rate of disappearance of Oy is

2 x 104 mol L1 s7!. The rate of
2 x 1074 mol L1 571 5833 SO, 3

appearance of SOg is BSOS B30

(A) 2x10*molL!s]
_ (A 2x 1074 mol L7} g1

(B) 4 x 107 mol L1lg1
B) 4x10*molL 1!

(C) 1x101molL g1
(C) 1x101molL g1

D) 6x104molL1g!

D) 6x104molL1g1!

Space for Rough Work / 208 so:sg g
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20. Which of the following electrolytes will

have maximum coagulating value for

Agl/Ag* sol ?
(A) NagS

(B) NH.SPO*

(D) NaCl

21. Electrolytic refining is used to purify
which of the following metals ?

(A) CuandZn
(B) Geand Si
(C) ZrandTi

(D) Znand Hg

22. Dryiceis

(A) Solid CO

. e Y
T—

(B) Solid SO,
(C) - Solid CO

20. B SNSYVY, ol DT, AgU/Ag?
Zpor Ry now, SRS 4Eec3R)

21.

22.

BRoQTOIZ ?
(A) NayS

(B) NagPO,
(C) Na,SO,

(D) NaCl

NS ol &aear{#ﬁ% N, DeBTEd

ITHOT QBT
(A) Cu @A) Zn

(B) Ge &3 Si

(C) ZrATI

(D) Zn &3 Hg

2o RoowOnEo0
(A) I CO
(B) S0,
(C) PICO,

(D) PIO0q

Space for Rough Work / 2.0 3@5% i
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23. Which of the following is an amphoteric | 28. 3¥NI o= &8 S Wee® sogptios”

oxide ? _ (eveod) &8 &® N

B Va0s Cra0s (A) V.Ox. Cr,0
25 23

(B)  Mny09, Cry03 (B) Mny05, Cry0
J7, LraUg

(C) Cr0, V5,05 (C) CrO, V05

(D) V505, Vo0, (D) V505, Vo0,

24, [Co(NHj),CINO,)IC] 3 TUPAC &3>

24. The IUPAQ name of
(A) B edyRRoregse-N-

[CD(NH 3)401( N'Og)] CI is
gowpe® (IIT) 3Ry w®
(A) tetraamminechloridonitrito-N-
cobalt(III) chloride (B) &tmoil)S8ndrngtindotmnot(Il)
89

(B) tetraamminechloridonitrocobalt(II)

hlorid

e (C) ¥ es)IRRORR BRI (D)
(C) tetraamminechloridonitrocobalt(I) - BRGE

chloride

(D) BemesEdERTFiRdrtes (I

(D) tetraamminechloridodinitrocobalt(III) g&%w

chloride '

Space for Rough Work / 2,08 ivﬁi 2&5"
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25. Which of the following statements is true

in case of alkyl halides ?

(A)

(B)

(&)

(D)

They are polar in nature
They can form hydrogen bonds
They are highly soluble in water

They undergo addition reactions

25. T UG IR Bew wS o EmYEenen

RowoRAT0Z JWWTIT) ?

(A)

(B)

©)

(D)

RN FORCD Roed BT
HORIT WOPH), DT BROFES
) VOV, T3 FONOSES

RN 0BT 3,001 wTDEBS

26. Phenol can be distinguished from ethanol | g 2up=3 cinz Deodremos3Rd 2B SETORD
= ]
by e reageas HFY SERTHTNOT T, e3BIE
(A) Bromine water A)  BReeR Dedd
)
(B) Sodium metal B) ReeRoho GRed
(C) Iron metal ©) ﬁ% A6
(D) Chlorine water (D) BRe0e* Redd
27. Which of the following compounds - "
undergoes haloform reaction ? 27. 8 39N ”Dmﬁ d@ﬁ#@a mﬁmemF
3,030 CSRPT WEREIZE ?
(A) CH3COCHg
(A) CH3COCHj3
(B) HCHO
(B) HCHO
(D) CH3- O - CHg (D) CHy—O - CH,y
Space for Rough Work / 2,883 Goﬁi i
Chemistry (11 -A)

-

T

collegedunia:

India’s largest Student Review Platform



28. Which of the following will be the most

stable diazonium salt (R Ny X ) ?
(A) CH3 Nj; X

(B) CgHz N, X~

(C) CH3CHy Nj X~

(D) CgHyzCH, Nj X

28. 333N Besededodo (R Ny X))

OBENTY, AR B A0S BPORT ?

(A)
(B)
(©)

(D)

CH3 N3 X
CeHs N; X
CHg CHy N3 X~

CgHs CHy Nj X

29. 3 0B NN JJ|R) B.AF.D. TG
29. Which of the following bases is not QTR0 ?
present in DNA ?
(A) BT
(A) Adenine
(B) Mops*
B) Guani
(B) Guanine © % -
(&) Cytosing D) cdooaaer
(D) Uracil
30. Which one of the following is a polyamide 80. 81 dvsod m@d:c‘ﬁ#@ﬁ m@@zﬁ%&‘
polymer ? | D000 Cd)?ﬁ@d:) ?
(A) Terylene ) .ES&@W |
(B) :5@&‘-6,6
(B) Nylon-6,6
(C) wI-S
(C) Buna-S
(D) wRFecies
(D) Bakelite
Space for Rough Work / .80 i&ﬁ% %#
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31. In F.C.C. the unit cell is shared equally | 31 ®F°.3.3. S [ VRV’ I T

. by how many unit cells ? &)Edgd 033RE* Irdeodnt BowdRoRTII
A) 10 A) 10
ik ®) 8
C) 6
e (C 6
D) 2
D) 2

82. At a particular temperature, the ratio of | 32, 2,0z aa;;& FOTRINITE), 001 M NaCl

molar conductance to specific conductance mgdvad et T3 Tonn 2R
; ed
of 0-01 M NaCl solution is TE30D 3T

B a3 g1
(A) 10° cm® mol A) 105 cm® mot™!

®) 10° em® mol™ B) 103 cm® mol™

(C) 10 cm® mol™ (C) 10 em® mol ™.
b 2 -1

(D) 10° cm? mol™ (D) 10° cm® mol

33. AR CTME wIBE WWEIND, ot
33. Isotonic solutions are solutions having . e

the same

(A) e | 93
(A) Surface tension L4 :

(B) & w3@
(B) Vapour pressure

(C) AT wIB

(C) Osmotic pressﬁre

(D) Viscosity D) ?ﬂ?

Space for Rough Work / 2.0 #Oﬂ‘i :Lﬁ:f
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34. The temperature coefficient of a reaction

is 2. When the temperature is increased
from 30°C to 90°C, the rate of reaction is

34. 0T oo eVFIoH BreaRO30ET
2 ©N3. womd $odod evdodsy 30°C
V0T 90°C 1t BPIeoord3ds. en §eod0d

- increased by Z3en o> Beroges
&d
(A) 150 times (A) 150 B0
B) 410 ti
) . B) 410 ZRocdh
(C) 72 times
' (C) 72 3o
(D) 64 times .
(D) 64 JIZOoD
35. Gold sol is not a
35. womOE 30OR) NIV IR
(A) Lyophobic sol SR
B) Negatively ch d sol
(B Negaitvaly chizrand so (A)  O03Repers e
(C) Macromolecular sol
(B) abm&}daﬁtﬁoaﬁ@%mcf
(D) Multimolecular colloid
(©) BRIRHRRIBYOT® TeF
, : ‘ _ D) R BrdBROT* F*
36. The common impurity present in bauxite s
is
; N =
& eeh 36. TOINIT0 WoF 8 0D
BOTIN RS
(B) ZnO
(A) CuO
(C) Fey0Oq (B) ZnO
(D) CI‘2 03 (C) F 9203
(D‘) CI‘203
Space for Rough Work / 2.0 Gvﬁ% '.:!p%'f
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87. Very pure Ny can be obtained by 37. ©Z0B WG N, 3&2{ BEODWBITT DFOS |

(8) SBRAOVTT BELFER), TDOCT

(A) Thermal decomposition of Sl

ammonium dichromate

B) NHCl 3033  NaNO,
(B) Treating aqueous solution of NH,CI

00T RSFATN
and NaNO, RO
(C) @dm@c&ﬁg{ @&)i&ﬁ)@@ OB
(C) Liquifaction and fractional @@ﬁﬁ&ﬂ@?ﬁm%@&
distillation of liquid air

_ (D) RR®BO30 ST TN PR
(D). Thermal decomposition of sodium
azide

38. 88 3FBoB od@  NUBRFD
38. Which of the following oxidation states is ¢ %B

common for all lanthanides ? %Dqﬁagdﬁ@ﬁ mmqmﬁ&gd ?
A) +2 (A) +2
_ B +3
(C) +4 (D) +5
(D) +5
39. 2,000 IR RO DA “K” T SIS
89. The electronic configuration of transition Jowo® +3 &SNS, 50 DOTRT T 6’4"
element “X”, is +3, oxidation state is [Ar]3d5 &N mﬁ%d B RO BRI
[Ar]3d®. What is its atomic number ? S5 o a% oo 3533 ?
2
(A) 25 ik
(B) 26 (B) 26
C) 27 (C) 27
(D) 24 ‘ (D) 24
Space for Rough Work / 2.0t Gv:!i %ﬂ"
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40. n-Propyl chloride reacts with sodium | 40. n-ZpeFer UREdEsy  Ree@odo

metal in dry ether to give . dReDmRoON BSFATN LI Bo0d0s

(A) CHz—CHy-CHy - CHy - CH; - CHg (A) CHg - CH,— CH,— CH, — CH, 1 CHjy

(B) CHg— CH, - CH, (B) CH;— CH,— CHy

(C) CHy- CH, - CH, - CH, (C) CHq~ CH; - CH, — CHg

(D) CHg— CHy —~ CH, — CHy — CH, — e e iﬂﬂ yer
CH, - CHj, + T

41. When the vapours of tertiary butyl
alcohol are passed through heated copper | 41. %éod:}ﬁ' m&%af c;ed:aﬂmcm‘- 30030
=«

t 573 h i
a K, the product formed is 573K 1’ 5000 @d})d oees

(A) But-2-ene BOOATIIN T $,03RPO
(B) 2-Butanone (A)  wRE-2-00F°
(C) 2-Methyl propene (B) 2-2RtRIN"

(C) 2-Q0ge* Jpbea*
(D) WRETO

(D) Butanal

42. What is the increasing order of acidic
strength among the following ?

42. fad;r{e@; U, B Bz BRI
ROO3NT B
()  p-20pe8 JTO
(i1) p-m%@’ Q0®

(A) di<iii<i (i) p-FER pTO*

(B) ili<ii<i (A) idi<iii<i

| (B) iii<ii<i

(C) i<ii<iil

(D) i<iii<ii (D) i<iii<ii

(i) p-methoxy phenol
(i) p-methyl phenol

(iii) p-nitro phenol

(C) i<ii<iii

Space for Rough Work / .08 sziﬁ %@
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43. Which of the following is more basic than

aniline ?

(A) Diphenylamine

(B) Triphenylamine

(C)

p-nitroaniline

(D) Benzylamine

43. SINIINVY, CAPTR BRGTNZ ey,

TB0,DE0RTONTS ?

(A) BRI
(B) HFore’
(C) p-FHERWAIT

(D) Woreres)s’

44, D-RBRFPTIRTFS 0B $vondT
44. The two forms of D-Glucopyranose are InTongD 33 0ed 8303 0Z3
called &
(A) odRDecdRROT?,
(A) Diastereomers
(B) SRRTOTT,
(B) Anomers
(C) RO
(C) Epimers
(D)  DTOYEITTOT?,
(D) Enantiomers -
45. IPNIYNTE, IR0 W,0BE°* TOROT*
45. Among the following, the branched chain SHplovrcia
polymer is
4) @OLF BRYT’
(A) Polyvinyl chloride
(B) a:i’ﬁe;&s‘
(B) Bakelite
(C) Low density polythene () SR EaNK RO
(D) High density polythene (D) -‘% B3NS TOPES*
Space for Rough Work / 20830 Goﬁ% %@
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46. Edge length of a cube is 300 pm. Its body | 46: 0T PIT WO Vg 300 pm NI,

diagonal would be 930 FOO FEIFR)
g (A) 600 pm
W A (B) 423 pm
C) 5196 pm
o TS (C) 5196 pm.
(D) 450-5 pm
(D) 4505 pm

47, Which of the following is not a conductor

of electricity ? 47. 83 FINIZYNYE I BT BT T,
(A) Solid NaCl (A) P NaCl
(B) Cu

(B) Cu

(C) Fused NaCl

(D). Brine solution (C) ®9AT NaCl

(D) &Y W3 e

48. For a cell reaction involving two electron

changes, E’ = 038 V at 25°C. The
et 48. 25°C I 0D IFRF WIRIH
equilibrium constant of the reaction is y 0
O33R 2.0 BReZ 3,031, E_, =03V
(A) 10710 83 8,0300% XR0S 3008
(B) 3x102 (A) 10-10
(C) 10 B) 3x102
(D) 1010 L
(D) 1010
Space for Rough Work / 2,08 Gvﬁ% %ﬁ#
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49. T, VPR JNFT 3000 WeNACT0BT

49. The value of rate constant of a pseudo
SPOD
first order reaction
(A) DT Boed SR,
(A) Depends only on temperature B N
(B) Depends on the concentration of (B) TSI FT30H 3RD BRRT
reactants present in small amounts 25063 930)0293dONTIZE
(C) Depends on the concentration of () gagssrﬁgj o220 éz:[% %mrgcj
reactants present in excess e’ 930003 N3S -
(D) Is independent of the concentration (D) TEWIFFE TO30D 0eSS B[S
of reactants @oNCORDLY,
50. (CHg)gSiCl is used during polymerization STRFRNOBRC N m@aﬂa@édmcﬁ@m
of organosilicons because
(A) (CH3)381CI fﬁﬁa Bedmoe3
(A) The chain length of organosilicon 2.
A Lt Gl NBRT SHBBTE) BOTWTITD
. Q < ™
(B) (CHg)3SiCl improves the quality (B) (CHg)3SiCl, &ORT'I mors &3
and yield of the polymer mﬁd Egmmﬁm 23333
4y A
(C) (CHg)3SiCl does not block the end (C) (CHg)3SiCl, 298n5° SO0 803
terminal of silicone polymer 200 m.)?ibkﬁ)@@
o ™
(D) (CHg)3SiCl acts as a catalyst during (D) (CHg)3SiCl, 39z008083E)
Bobpneias i BenSGr N BRI
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51.

b2.

53.

When PbO, reacts with concentrated
HNOg, the gas evolved is

(A)
(B)

NO,
Oy

(C)
(D)

Ny
N,0

KMnO, acts as an oxidising agent in
alkaline medium. When alkaline KMnO,
is treated with KI, iodide ion is oxidised
to

A I

(B) 10"

©) 103

(D) 1o,

[FE(N02)3 Clg] and [FE(O oz N0)3 013]

shows

51.

52.

Bwe HNO3 odv PbO, %e3d =Sramon
VOO L3

(A)
(B)
(C)
(D)

NO,
O,
Ny
N,0

Eg}@éa%‘@ d.)aq%mdﬂﬁ KMn04
GUZBRF EOTOCINN WSFROZE. TIROD
IRGRBY, KMnO, ) KI  Ieodr
DEFATIN I NOSRT® LVBAF

(A) I

10™

103

(B)
©)
(D) 10,

[Fe(NOy); Clg] R332 [Fe(O — NO); Clj]
20033

k , : (A) Sowogk I=pon3d
(A) Linkage isomerism
(B) Geometrical isomerism (B) msm ABIONS
(C) Optical isomerism (C) W8 A=on3
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54. Tertiary alkyl halide is practically inert 54. :Sadwwj F‘-{mimmngow STed 8,009,
to substitution by .SNZ mechanism %‘%-CJJ Bt?:fvt ECZE“T‘M TR 0dpeNTIoN
% T FowT ?
because of tﬁédzm hdoé
A) 3ITRORFOY
(A) Insolubility i D =2
(B) 103
(B) Instability @
(C) VOBICT® WOTORY
(C) Inductive effect o
(D) REDT TOFOWD
(D) Steric hindrance “”
-0 . |86, 8 FINI CrodIE 30 NI,
56. The products X and Z in the following |
eméﬁﬁ%b X @3 Z nodoéy
reaction sequence are 2
- AlClg/ether
+ CHg - CH = CH,, >
AlCly/ether Heat
+ CHy - CH = CH, > X
Heat
OH
0,/130°C H*/H,0
OH e > Y B folis +Z
Heat
0,/130°C H*/H,0
>»Y ———» + Z
e (A) wReTpTCT Boren® B3y AR
(B) 306 WBeE B 303 LrEines®
(A) Isopropylbenzene and acetone
(B) Cumene peroxide and acetone (C) PRRFPTE Woeden® VY
~ (C) Isopropylbenzene and isopropyl DRRTRFO B8Rz
ois D) Semder B3 RLiRe
(D) Phenol and acetone
Space for Rough Work / 2,08 Gvﬁi "»b(#
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56. The appropriate reagent for the following | 56. 83 ¥9¥NS TOIIrZoDY, wiezordaxd R
transformation is 3,0350500% A

)
I O

I
CH
b e b o Y e PR e
HO HO HO HO

(A) Zn-Hg/HCI

A) Zn-H
(B) HyN — NH,, KOH/ethylene glycol Kiidn gAIC]

' (B) HyN - NH,y, KOH/ethylene glycol
(C) Ni/Hy : ' (f&%@ﬁ ridﬂae? )

(D) NaBH, (C) Ni/H,

(D) NEBH4
57. In the following reaction

CH, & 57. 83 89N CRLOIIT 3o Z ) OB
Crgi;Clz - H,0 7 CH, &
2 CrO,Cl, H;0

the compound Z is

(A) Benzoic acid (A) joTyeecds* AT

(B) Benzaldehyde (B) oz

(C) Acetophenone ©) @EIIT

(D) Woziex®

(D) Benzene
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58. The reaction of Benzenediazonium |58. o3 dwelecdodo  BRYEEROON

chloride with aniline yields yellow dye. 29" (Aniline) @&FON ﬁﬁﬁﬁw%d R;J
The name of the yellow dye is ' u38adRndZa. & BP0 & (Dye) & BI
(A) p-Hydroxyazobenzene ) (A) p-%ﬁ@@tﬁﬁﬂ&i@ﬁOﬁa‘

(B) p-Aminoazobenzene - (B) p-uBeungons

(C) p-Nitroazobenzene . (©) p-JHineiouonss

(D) o-Nitroazobenzene

(D) u—%%fﬁtﬁ@ﬁotﬁa‘

6. “Ths glysomiais Hnkage invalved AR [ 0 ok
. e glycosidliC linkage 1mvoiv m B
the glucose units in amylose part of QO NTR),  WORATOB 7§, BreH AT

starch is 205 03RRI ?

(A) C;-C,p-linkage | (A) C;-C, B-linkage
(B) C; - Cg o-linkage
(C) Cq-Cgp-linkage
(C) Cy-—CgpB-linkage D) Cf €, olinkage

(B) Cl = CB Dt-linkage

(D) Cy-C4o-linkage

60. o dWdor IRk T[T, IoARORD

0erD’ -TeR, BeNITFII),
60. Ziegler-Natta catalyst is used to prepare , VTSR eNROZVT ?
(A) Low-density polythene (A)  OFPOTOZ, TORE*
(B) Teflon | (B) &3qp
(C) High density polythene (&) ﬁj@,‘.‘,ﬁ)gcj OB
(D) Nylon-6 (D) . Foo-6
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wERY, Wles T|OeF, - 2018
D0 dZod o
19-04-2018 dmsmg . 2.30 5oz 3.50 3 =I8R

=R daca’

nosy @osnd i) UEp WZOTL QT noy o=
60 80 DwTnsh 70 LJneh

ad:& 29983 m:;a.‘lﬁf.:»:i::a;":ua1 w3000

oRa

L
2
3.
4,
5.

Loout' 3D TP B Jed JYSQY IWOITONDS rau Mol HFH FXDH wode sndad somh B o pegoréng,
8008 Dedpmotood & T, Jdfoda, IR 25 B ur Fodo, woud . 2.30 YT IoI0 SRBCRrHFD. '
AR ReADT FIHIIoD DI L.oo.uT, IT BIFoD IRFY Beed ot YADHYT, oITWANERY,

T3, BIBod I Beer DI D ToJohD, WIS BRI Juud wiobues.

L.20.00°. $v30 J3fod EYERNC ANOIT WNGY TeeF Te SRR

e rle tald v B

L
.3

R B 4

10.

£.020.60°. 030 TIFODY JNOSTONDE 00T TR, S5 RO / MWWIRERTE / BXIOD,
Soedde dor . 2.40 § eI, vQohIde,

¢ I3 Tsfod wORNTYWLS rer O, Irodeos.
T3 JPoD wuNd 20T TIRYD, ReeBen oD JUD.

. be.20.640". 030 TBoHY evI0TD WUOPRLHTLD.

oF@rneR o, Xeusnd
TP, BIBoDY i 60 TIriewh, [S Tdrie 4 wEd woky wIdth I,
Heode o woud . 2408 o3 TP, Tdfod WURRNGEHH At IH B T JIFoHY cIRFBe HRRW INOITNYTe
ADPHD o woTY uFT FOW JRNGY vFTe cIRFPDe DLOND nBRNDoD: D0WT, DUITAXBROD, B s Sl
gorde 8088 BedOs0oT TFTEFODT), WERELENY, FO0FT L.20.8TF. HVIT TFOHY NFORLD TOORTTHTH.
20007 70 JTAYY

* T3 [PodI, HPodonod L.O.
o T3 THoH $9R eI Toey W Bohod LVITRYY BORE LITT, Yol FRA.

*  TF TIFOLYS TP wRHRTNDS IO WITTD), L.o0.GT. €I IPobhY wde FH modoh Wood AAHT FOWOPAT
WEIID, D LT I ToAoD NG TN JTFROT BoTwrer BOLOTHTH.

BocdRd #b 'memm;
_CORECTIETIOD | g @ ©@® D ® O0F 0@ 8®
@ ® CO0leeeod ®®e®

¥ L.00.6T. 030 JYFOLR), X,T BRI WICT WA Xe TND) Arp HHIF, B DOBIZ. YHOOT b.o0.MT, $038
TBoHY LFOMTON DYPoE [

T3, BEHODY SRLT PO WNIN, UF Suxg wTcieeNt. L.O0.8T. VZT TIFCR, WTE LvToleentiden.

Badod t¢f ©ond . 3.50 68 3030 WIOMJYBW, QA AT HE, VoY THHITD, IO WASY T,

L2050, w030 JIFob, 8evd Sedimuton cbgpydodd Deao.

5008 hedrRoit d}eo%na TovodE, Iesr (3u0 TI) 3§, IIDY ardieomd IYuOoD ohpemdodd, (vEhrod i)
sEhFnen Joho SPusSRIIRA HIR deodech demdmd,

H3C0 oD JPo, womd WJNF LU WIIIWN 2.

S uFIod IFAYQ wIDDT LHOFReR NS SINOIHADE TIAY W SOt FoBeBDGY wONGT U Iob
W Fdgona, Secdnm.
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